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Question 1. (5 marks)

Find f(x) given the following information:
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- Question 2. (10 marks)
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Question 3. (5 marks)
Find the area bounded by the lines 2y = —4x+ 2 and 3y = 9x+ 6 on the interval
—2 < x < 2. Include a sketch illustrating the area that you are calculating.
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Question 4. (5 marks)

A current { = —2— (in A) is sent through an electric dryer circuit containing a .
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previously uncharged 4.0 uF capacitor. How long does it take for the capacitor

voltage to reach 60V? -
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Question 5. (15 marks) -
- Integrate each of the functions. (5 marks each)
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Questlon 6. (10 marks)

Sketch the graph of f(x) = x* — 213 +x2. Flnd and clearly identify on the sketch
the followmg

.(a) The x and y intercepts
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(c) The intervals where flx ) is increasing/decreasing and aﬁy relative maxima or
minima. '
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(d)-The intervals-where_f{x)-is.concave up/down and any points_of inflection
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